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I. Kim has 4 grapes. She eats | 2. Which addition fact can

3. How many grapes does
Kim have now?

o 7 o 2

o |

help you solve |7 — 97

o 7+2=9

O 8+7=15
! o9+ 1 =10
} o.9+.8_=|7

3. Which shows how to make a fen to solve |3 — 47

oe[o[oe|([orelel
o 0 0 0 | e R e N

13 -3
10 — 3

O

O

0]
X

I3 —3—3
I3 —3— 1|

@0 e

-y ar

et

o

O

4. Which shows the strings in order from longest to shortest?

SEEEEE R

Assessment Guide
© Houghton Mifflin Harcourt Publishing Company

©

End-of-Year Test

AG27



| End-of-Year Test ‘5?
! Page 2

5. Carmen measures a pen with

. About how long is the pen?

o about5 i

O about 3|

< about 4

.|
Ll

O about 2| |

6. What time is it?

o 7:30 0 6:00

o 6:30 o 5:30
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7. Count by tens. What
number is missing?

45,55,65, _ ,85

O

8. What number does the

model show ?

T
IE }i Hi Egu
o 118 o113

|17 o 108

2oz 4
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9. How many tensand ones | 10. How many flat surfaces
are shown? does a sphere have?

H @
o ()
oo \_/
He©

O Y tens 3 ones | o 0

Y4 tens 8 ones | o |
o 5 tens 3 ones o 2
¢ 8 tens 4 ones | o 6

I 1. Jen combines these ' 12. Which flat surface could a

shapes. . rectangular prism have?
— A | A
What new shape can Jen | O
maoke? | o o
|
o o | [

? \ o O
& - | coon 4
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13. There are 4 brown bears
and 5 black bears. How
many bears are there?

e © o0
0 ©o
4+5=_
o 10 O 9
o 8 o7

I15. Which shows the same
addends in a different
order?

2+8=10

O 6+2=8
o 8+2=10
o 10+2=12

0o 2+8=10
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14. What is the sum?

O+7=____

1 6. Which shows a way 1o

make 87

O olop
o ] ofofo

O

O

e
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17. What completes the
related facts?

/7+5=12
5+7=12
|12 =5 =7

o 12=7=5
o 12—-56=7
O 7+4H=11I

0 6+6=12

19. What is the missing

number?
—u= |
4+[__J:||

O 8 O 6

O 7 0O 3

Assessment Guide
Haughton Mifflin Harcourt Publishing Company

!
———— e ——

18.

Owen and Ana find

9 shells in all. Owen finds
5 shells. Which number
sentence shows how to
find the number of shells
Ana finds?

o 9+5=14
© 9—-56=4Y
0 9+3=12
o I4—5=9

. Which makes the number

sentence true?

12 —-3=7+___
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21. What is the difference?
90 —50=__

o 20
o 30
o 40

o 50

23. How many fens ond ones
are in the sum?

45
+ 22

o 2tensand 7 ones
© 6 fens and 3 ones
« b6 tensand 7 ones

=

O 7 tens and 6 ones
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22. What is the sum?

H9 +3=

o 79
o 52
O 36

42

O

How many vertices does a

trapezoid have?

/N

O
o~ &) = w

cpail
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25. Look at the picture. What are the parts?

A oA OO
VAV W

26. Which shows fourths?

O O O

@
&

27. There are 9 dogs 2 dogs ' 28 There were |0 bugs. Some
are large. The rest are | crawled away. Then there
small. Which number - | were 6 bugs. How many
sentence can you use to bugs crawled away?
find the number of small I

dogs? % 10
100000000 6
09—-—2=7 i
O 7—2=5 |
2 -" o 10 O 8
O — 2=
1 —2=29 o 6 oy

0O 7—-5=2 | m
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29. How many fewer .- are there?

i:? ﬁ? i:? 6 fewer - 3 fewer
elelololeolo I N ?

6 —3=__ " fewer 2 fewer v7

O O
30. What is the difference?

0 I 9 10
O

9—-0=___

Use the bar graph for questions 31 and 32.

Animals on the Farm
[72]
© g:f horse
€
'E Y sheep
0 I 2 3 4 5 &6

Number of Animals

31. How many more {.J are | 32. 2more ﬁ?’l come to the

there than Qﬁ ? : farm. How many boxes
next ’roﬁf should be
o a 2 ' shaded now?
o 3 o | !
| o 6 o4
O 5 o 2

22on g

Assessment Guide AG34 End-of-Year Test

© Houghton Mifflin Harcourt Publishing Campany



tnd-ot-Year lest § %

Name . Page 9
33. How many ¢/ * N2 arein | 34. Joey crosses out the
the band? | numbers that are less than
! 23 and greater than 43.
Children in the Band | Total | | What number is left?
L2 girls W 1 B
boys 1 4 : l‘? 2 ’ill .51| 133
o 7 oY | O 53 o 32
o5 o 2 | o 4y o 19
f
35. Which is true? | 36. Whot number is IO less
| ?
o 36> 38 than 657
O 38 < 36 0 99
o 36 <38 & o0
o 36 =38 © o4
O 75

.
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37. Count on. What is ' 38. Which doubles fact helps
the sum? . tosolve5+6=11?
trI= 0 7+7=14
o 3 | 0 5+5=10
oM . o 4+u=8
© 5 | 0 3+3=6
o 6 |

39. Which shows a way to
make a ten to solve 8 + 37

J o
| 40. What is the sum?
|

i

| 3+5+2=| |

ooooocjooooot
000 eeeos o 10
X X ] &
N ! o 8
0O 8+3+ I |
i o 7
0o 8+2+1 1
| o5
o 7+3+3 |
0O 7+2+ 1 |

o
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